51
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0.40
0.50
0.60
0.70
0.80

CO2/MEA 0.6
C02/MEA

CO2/MEA

C02
(Deshmukh)
0.2

C02

0.20
3.02
29.00
137.00
395.00

0.00
0.60
333
210
125

3.33%

P(H2 - HCO-)



C02 - MEA H2S
(Newton Raphson)

(Chakravarty 1985) (Rahp weiland)
(Brown)
C02/MEA C02/MEA ' 04
N
o @b
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8 40 -
a
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o
©
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0 05 1
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Model

04 04



V1,yl V2,y2 Vnyn V(n+l),y
N . -5 N-1 | N .
—> =gl ot
LO L1 L(n-1),x Ln
X0 X ( -1) XN
LgXco— ~ 02, ~ MXc02\ = V2y 2.2 cn i (51)
£0,/,1
F
(20~ X@i) = V(Y& -Yo2) . (5.2)
ye()2,\ — reactionX 02,1 (53)
g 3) 2)
1 _yco,/H L1~ D
711 mo_ +| ................. (54)
LI(K reactn) f A
o 7 re,cim)”_ S (5.5)
2
>'«,23 " A recation ™ x 0021 >|«,2,3+ 4 kQ
1 o (5.6)
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y i1 ) )

(A+1)A,3 +KreaCU0nAX90u0 (5 7)
Ay A +| N
M  (-oa-l) o Al )
. A AN A
xop= 73 A§24 "0 (59)
3 N ydIN )
1 N
A)yd + AN{A-\)K EROXAD
yehN ~ ANy == . (5'9)
1
L{X®20- xdln) =v (ch].l—y (D,J/*l) ............................... (5'10)
IV..0- %' ). LN S (5.11)
ol AN+,- A 5.12)
YOO K b @) @ 4]\

(12)
AN+ycoVH - AN+'yc02\-y COZ2NH + >« 21
=N %2 1 - AWK ecanXe2- Ay @ + AK redaiXa®0- - (5-1-9)
T o 1A o@D

= (A - Wycor+1 - K reac,onXco20) + > 021 - K reactionx 02,0.......... (514)

pet=(pop2oM gk, §oo (5.15)
S«21 Mediox@0 A
e A\ O MEdgX@0, 1 516)

=(=A")C oo - A oo )

f Lo - Meda’ @oM
1a b yo1—medckmg )

1 /4 (1)

(17)
(Design Parameter)



L = 1 476 M~ Hr
V- 6401 M 3/ Hr

V@ .1 | 0.039
ydl 0.000L
X 0 001

e =5.26 * (1 -6* exp(20.76 * ((AE(2) + MGCL))/(ML(6) + MG (6)))))*
exp((-0.0598 * log((ML(2) + MG (2)) /(ML(6) + MG{6))) +0.0211) * (T - 273))) /(P * 101.32)

K(reaction)
ML(2),MG(2)
ML(6), MG{6)
T 3151
P (atm) 6
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C02 (kmol)
H20 (kmol)
CH4 (kmol)
C2H6 (kmol)
C3H8 (kmol)
MEA (kmol)
TEMP (K)
PRESS(ATM)

53

C2H6 (kmol)
C3H8 (kmol)
MEA (kmol)
TEMP (K)
PRESS(ATM)

0.2

176
31

1819.78
29.65
0

351
6.22

99.56
1945.00
001
0.05
0.03
231.44
339.60
6.00

99.55
1946.63
0.00
0.00
0.00
231.55
340.50
6.00

23.16
1963.79
0.00
0.00
0.00
231.03
387.40
0.50

99.55
1946.63
0.00
0.00
0.00
231.55
340.50
6.00

4

76.39
171.90
0.00
0.00
0.00
0.54
380.20
043

(%)
001
0.08

0.05
0.26
0.00
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C02 (kmol)
H20 (kmol)
CH4 (kmol)
C2H6 (kmol)
C3H8 (kmol)
MEA (kmol)
TEMP (K)
PRESS(ATM)
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C2H6 (kmol)
C3H8 (kmol)
MEA (kmol)
TEMP (K)
PRESS(ATM)

0192
18.7
36.97
1814.98
21.08
011
3151
6.22

76.50
181.17
001
0.05
0.03
042
379.60
043

0.2

176
317

1819.78
29.65
0

3151
6.22

76.39
171.90
0.00
0.00
0.00
0.54
380.20
043

4.00
6.25
1.94
0.26
8.67

0.00
0.00

0

0.14
539

21.52
0.16
0.00
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C02 (kmoi)
H20 (kmol)
CH4 (kmol)
C2H6 (kmol)
C3H8 (kmol)
MEA (kmol)
TEMP (K)
PRESS(ATM)

23.05
194391
0.00
0.00
0.00
231.02
387.40
0.50

4%

8 Tray

23.16
1963.79
0.00
0.00
0.00
231.03
387.40
0.50

047
101

0.00
0.00
0.00

49
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21.1

30
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5.7
5%
1%
1 1
4
0.0061
0.0032 - 0.0038
0.0027
0.0032-0.0038
0.0029
0.004 - 0.006

240

2.46

2.16
0.0034

2.17

58

10 %
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30-40
01
11
30-40
12
30
24
13
2
3

10
1%

3.9

C02/MEA

1%



4.83
6.2

512

5.10

2.5
3.0

88

10%

57



BEESAEEAERRRCESSHY AT

L

BEEEEEREEERREBREBEBEBREEREEYE

g2

ot

ol

0ap
0%
s
Q03
0%
Q0P
4
0B
QOB
0B
0B
Qs
0B
0B
(0b
B
s

000

88888888888888888888888888%

A

BEEREBEREUREREERERES

BEEEEEH

gﬁgﬁﬁggﬁﬁéﬁgﬁ%ﬁ%ﬁ%%ﬁ%%%ﬁ%%@

z

BREBEEEEEBEEREEEREEBREERSBERES

1

SEBHIEEIBBEHEEEHEEEE

~



» «

P«

__L B

_@w Jeep . o 0 288988838
o
m 26930380800 d@020c03140 8,
M ©,ddedsi w5008 s0e o
n,
_.m O8@ofl . ¢ @-.8 p® 82

2 0
(05 Toasfanaataloanaadaaste

0, 8888408 1haanadhs ¥oio
el 00«0y g q ¢ g ,o0

W@ 0 Q 0 _@x@ m@ »  2Q 10

30008591 0@8 gsjoiOg i *ip1

o gbes T @D g 0o 8 PH%s

1 -

P

T ¥ z,zgw—.E---zmzz 55 Cs
H_®®a@m GoGgD $gob5 8407, ¢
€

1£ B8g & D08550)59 > P

700 58 8pRre»800 @ 272
|



53

AjUn+| + Qealar =h 2v2 + H 2L 2 + Qreadin

Qredle = mL
Lnt]L = (M3 Hr)
HmX = (Joule Hr)
V2 = ' ((KNM 3 Hr)
h2 = (Joule!Hr)
L2 - (M3 Hr)
Qetniar = (Joule Hr)
Qreaction = : (Joule Hr)
hH =f(mJ)
Queboctier QrecdD

Qeacl»= ACO 2)



C02(gasin) +C02(liqin) = C02(gasout) + CO2(liqout)

61



62

K = 5.26 * ((10° * exp(20.76 * ((ML(2) + MG(2)) /(ML(6) + MG(6))))) *
exp((-0.0598 * log((MZ(2) + MG (2))/(ML(6) + MG(6)) +0.0211) *(r - 273)))(P MOI 32)

1-2.9
36- 38

214- 218
46 - 48

317 -320
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